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BEEDTRE

AETRUE = —gurmu

XKEEFRE=A+B—-C(—D)
A=REBAEEREFEF ZERRILEF ERE-PFIEEFEES
B=BAAEORES
C=RBNEE —1ZEMRMIR — £
D=fZHrREEE T B4

XEXOBRBR=EXNZOE-ZRIFNE(EXREF L) DE
(HF4EE]

A= 323,028,466 —105,559,234F —0F —0M —0M =217,469,232H

B= OH
C= 1,758362,117H —0M —0M =1,758,362,117H
D= O0H

BEDATEBEE = 217,469,232 +0M—1,758,362,117MH —0M
= A 1,540,892,885M

XA AT RERESTRENEEL TRV -OEEDOLELL
(A RAHEACPRETREESTIRELZEETH-HOOEE F1D2kY)

EXDHE = 1,135067,195M —0H
= 1,135,067,195M
; + _ _ A 1540892.885H
ASfRLE = 1,135,067,195M
= A 135.75%
XEHDBEEIEETREEARKELTOVEN O, AROEEI—1E45,
(%)
SHAEEXRDAERS 766,403,325M
ERUWBRE 766,403,325M
g,% EERUBEHBEICETIASENREIRETIRE) oM
EiEus oM
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